Candle Center - Infinite Precalculus Name

Motion Along a Line Date Period

A particle moves along a horizontal line. Its position function is s(t) for t>0. For each problem,
find the velocity function v(t). The graph of s(t) is provided. Use the blank graph to sketch v(t).
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A particle moves along a horizontal line. Its position function is s(t) fort>0. For each problem,
find the velocity at the given value for t. The graph of s(t) is provided. Use the blank graph to
sketch v(t).
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A particle moves along a horizontal line. Its position function is s(t) for t>0. For each problem,
find the velocity function v(t). The graph of s(t) is provided. Use the blank graph to sketch v(t).
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A particle moves along a horizontal line. Its position function is s(t) for t>0. For each problem,
find the velocity at the given value for t. The graph of s(t) is provided. Use the blank graph to
sketch v(t).
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